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9.r.                                                MAT                                             26.03
1. Doplň čísla, ktoré sú na číselnej osi hneď pred a hneď za daným číslom.
	
	1 258
	
	
	
	7 249
	
	
	
	8 520
	

	
	4 084
	
	
	
	2 009
	
	
	
	9 300
	

	
	3 107
	
	
	
	7 609
	
	
	
	6 870
	



2. Vypočítaj. Výsledok zaokrúhli  na tisícky.
	2 460+ 5 460 =          
	
	   8 768 - 6  368 =
	
	5 272 + 6 494 =          
	

	5 101+ 6 101=
	
	   9 944 -  5 444  =
	
	3 153+  6 888=
	

	3 489+ 5 489=
	
	  6 705  -  1 605-  =
	
	7 576 -  7 389=
	



3. Vypočítaj.
	2 090+(650-500)=
	9 . (60 : 10)=
	600-(9 . 10)=

	3 000-(575+245)=
	3 . (72 : 8)=
	4 900-(10 . 10)=

	(1 179-800)+1000=
	(4 . 5) : 4=
	5 300+(10 . 5)+(7 . 10)=







